# F A S C I C U L I M A T H E M A T I C I Nr 36 2005

#### GENGPING WEI AND JIANHUA SHEN

## ASYMPTOTIC BEHAVIOR OF SOLUTIONS OF IMPULSIVE DIFFERENTIAL EQUATIONS WITH POSITIVE AND NEGATIVE COEFFICIENTS

ABSTRACT: This paper is concerned with the impulsive delay differential equations with positive and negative coefficients

$$\begin{cases} x'(t) + p(t)x(t-\tau) - q(t)x(t-\sigma) = 0, \ t \ge t_0, \ t \ne t_k, \\ x(t_k) = b_k x(t_k^-) + (1-b_k) \left( \int_{t_k-\tau}^{t_k} p(s+\tau)x(s)ds - \int_{t_k-\sigma}^{t_k} q(s+\sigma)x(s)ds \right), \ k = 1, 2, 3, \cdots. \end{cases}$$

Sufficient conditions are obtained for every solution of the above equation tends to a constant as  $t \to \infty$ .

KEY WORDS: asymptotic behavior, Liapunov functional, delay differential equation, impulse, coefficients.

#### 1. Introduction and and Preliminaries

The theory of impulsive differential equations is now being recognized to be not only richer than the corresponding theory of differential equations without impulses but also represents a more natural framework for mathematical modelling of many real-world phenomena [1,2]. In recent years, there is increasing interest on the oscillation and stability theory of impulsive delay differential equations (see [3-10] and the references cited therein) and many results are obtained. However, the asymptotic behavior of solutions of impulsive delay differential equations is developing comparatively slowly [5,9].

In this paper, we consider the asymptotic behavior of solutions of the impulsive delay differential equation with positive and negative coefficients of the form

(1) 
$$\begin{cases} x'(t) + p(t)x(t-\tau) - q(t)x(t-\sigma) = 0, \quad t \ge t_0, \quad t \ne t_k, \\ x(t_k) = b_k x(t_k^-) + (1-b_k) \left( \int_{t_k-\tau}^{t_k} p(s+\tau)x(s)ds - \int_{t_k-\sigma}^{t_k} q(s+\sigma)x(s)ds \right), \quad k = 1, 2, 3, \cdots, \end{cases}$$

where  $\tau, \sigma \in [0, \infty)$ ,  $p(t), q(t) \in C([t_0, \infty), [0, \infty))$ ,  $t_0 < t_k < t_{k+1}$  with  $\lim_{k \to \infty} t_k = \infty$ , and  $b_k$ ,  $k = 1, 2, \cdots$ , are constants,  $x(t_k^-)$  denotes the left-hand limit of x(t) at  $t = t_k$ .

With equation (1), one associates an initial condition of the form

(2) 
$$x_{t_0} = \varphi(s), \ s \in [-\rho, 0], \ \rho = \max\{\tau, \sigma\},$$

where  $x_{t_0} = x(t_0 + s)$  for  $-\rho \le s \le 0$  and  $\varphi \in C([-\rho, 0], R)$ .

A function x(t) is said to be a solution of equation (1) satisfying the initial value condition (2) if x(t) is defined on  $[t_0 - \rho, \infty)$  and satisfies

- (i)  $x(t) = \varphi(t t_0)$  for  $t_0 \rho \le t \le t_0$ , x(t) is continuous for  $t \ge t_0$  and  $t \ne t_k$   $(k = 1, 2, 3, \cdots)$ ;
- (ii) x(t) is continuously differentiable for  $t \ge t_0$ ,  $t \ne t_k$ , and  $x(t_k^+)$  and  $x(t_k^-)$  exist with  $x(t_k^+) = x(t_k)$  for  $k = 1, 2, 3 \cdots$ ;
- (iii) x(t) satisfies (1).

Using the methods of steps as in the case without impulses, one can show the global existence and uniqueness of the solution of the initial value problem (1) and (2).

As is customary, a solution of (1) is said to be nonoscillatory if it is eventually positive or eventually negative. Otherwise, it will be called oscillatory.

### 2. Main Results

**Theorem 1.** Assume that the following conditions hold:

(4) 
$$p^*(t) = p(t) - q(t + \sigma - \tau) > 0$$
 for  $t \ge T_1 = t_0 + \tau - \sigma;$ 

(5) 
$$\lim_{t \to \infty} \int_{t-\tau}^{t-\sigma} q(s+\sigma) ds = \mu < 1;$$

(6) 
$$\limsup_{t \to \infty} \left( \int_{t-\tau}^{t+\tau} p^*(s+\tau) ds + \frac{q(t+\sigma)}{p^*(t+\tau)} \int_{t-\tau}^t p^*(s+2\tau) ds + \int_{t-\tau}^{t-\sigma} q(s+\sigma) ds \right) < 2;$$

(7) 
$$0 < b_k \le 1 \text{ for } k = 1, 2, 3, \cdots \text{ and } \sum_{k=1}^{\infty} (1 - b_k) < \infty.$$

Then every solution of (1) tends to a constant as  $t \to \infty$ .

**Proof.** Let x(t) be any solution of (1). We shall prove that the limit  $\lim_{t\to\infty} x(t)$  exists and is finite. For this purpose, we rewrite (1) in the form

(8) 
$$\begin{cases} [x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds - \int_{t-\tau}^{t} p^{*}(s+\tau)x(s)ds]' \\ + p^{*}(t+\tau)x(t) = 0, \quad t \ge t_{0}, \quad t \ne t_{k}, \\ x(t_{k}) = b_{k}x(t_{k}^{-}) + (1-b_{k})\left(\int_{t_{k}-\tau}^{t_{k}-\sigma} q(s+\sigma)x(s)ds \\ + \int_{t_{k}-\tau}^{t_{k}} p^{*}(s+\tau)x(s)ds\right), \quad k = 1, 2, 3, \cdots \end{cases}$$

Now we introduce three functionals as

$$V_{1}(t) = \left[x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds - \int_{t-\tau}^{t} p^{*}(s+\tau)x(s)ds\right]^{2},$$
$$V_{2}(t) = \int_{t-\tau}^{t} p^{*}(s+2\tau)\int_{s}^{t} p^{*}(u+\tau)x^{2}(u)duds,$$

and

$$V_{3}(t) = \int_{t-\tau}^{t} p^{*}(s+2\tau) \int_{s}^{t} q(u+\sigma)x^{2}(u)duds.$$

In what follows, for the sake of convenience, when we write a functional inequality without specifying its domain of validity, we mean that it holds for all sufficiently large t.

As  $t \neq t_k$ , calculating  $\frac{dV_1}{dt}$ ,  $\frac{dV_2}{dt}$  and  $\frac{dV_3}{dt}$  along the solution of (1), we have

$$(9) \qquad \frac{dV_{1}}{dt} = 2 \left[ x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds - \int_{t-\tau}^{t} p^{*}(s+\tau)x(s)ds \right] \\ \times (-p^{*}(t+\tau)x(t)) \\ = -p^{*}(t+\tau) \left[ 2x^{2}(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)(2x(t)x(s))ds \right] \\ - \int_{t-\tau}^{t} p^{*}(s+\tau)(2x(t)x(s))ds \right] \\ \leq -p^{*}(t+\tau) \left[ 2x^{2}(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x^{2}(t)ds \right] \\ - \int_{t-\tau}^{t} p^{*}(s+\tau)x^{2}(t)ds \\ - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x^{2}(s)ds - \int_{t-\tau}^{t} p^{*}(s+\tau)x^{2}(s)ds \right],$$

G. Wei, J. Shen

(10) 
$$\frac{dV_2}{dt} = \frac{d}{dt} \left( \int_{t-\tau}^t \left( p^*(s+2\tau) \int_s^t p^*(u+\tau) x^2(u) du \right) ds \right) \\ = \int_{t-\tau}^t \frac{\partial}{\partial t} \left( p^*(s+2\tau) \int_s^t p^*(u+\tau) x^2(u) du \right) ds \\ + p^*(t+2\tau) \int_t^t p^*(u+\tau) x^2(u) du \\ - p^*(t+\tau) \int_{t-\tau}^t p^*(s+\tau) x^2(s) ds \\ = p^*(t+\tau) x^2(t) \int_{t-\tau}^t p^*(s+\tau) x^2(s) ds \\ - p^*(t+\tau) \int_{t-\tau}^t p^*(s+\tau) x^2(s) ds,$$

and

(11) 
$$\frac{dV_3}{dt} = q(t+\sigma)x^2(t)\int_{t-\tau}^t p^*(s+2\tau)ds$$
$$-p^*(t+\tau)\int_{t-\tau}^t q(s+\sigma)x^2(s)ds$$
$$\leq q(t+\sigma)x^2(t)\int_{t-\tau}^t p^*(s+2\tau)ds$$
$$-p^*(t+\tau)\int_{t-\tau}^{t-\sigma} q(s+\sigma)x^2(s)ds,$$

Let  $V(t) = V_1(t) + V_2(t) + V_3(t)$ , then, by (9)-(11), we get

(12) 
$$\frac{dV}{dt} = \frac{dV_1}{dt} + \frac{dV_2}{dt} + \frac{dV_3}{dt} \\ \leq -p^*(t+\tau) \left[ 2x^2(t) - x^2(t) \int_{t-\tau}^{t+\tau} p^*(s+\tau) ds \\ - \frac{q(t+\sigma)}{p^*(t+\tau)} x^2(t) \int_{t-\tau}^t p^*(s+2\tau) ds \\ - x^2(t) \int_{t-\tau}^{t-\sigma} q(s+\sigma) ds \right] \\ = -p^*(t+\tau) x^2(t) \left[ 2 - (\int_{t-\tau}^{t+\tau} p^*(s+\tau) ds \\ + \frac{q(t+\sigma)}{p^*(t+\tau)} \int_{t-\tau}^t p^*(s+2\tau) ds \\ + \int_{t-\tau}^{t-\sigma} q(s+\sigma) ds \right], \quad t \neq t_k.$$

112

$$\begin{array}{ll} (13) \quad V(t_k) = \left[ x(t_k) - \int_{t_k - \tau}^{t_k - \sigma} q(s + \sigma) x(s) ds - \int_{t_k - \tau}^{t_k} p^*(s + \tau) x(s) ds \right]^2 \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} p^*(u + \tau) x^2(u) du ds \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} q(u + \sigma) x^2(u) du ds \\ = \left[ b_k x(t_k^-) + (1 - b_k) \left( \int_{t_k - \tau}^{t_k - \sigma} q(s + \sigma) x(s) ds \right. \\ & + \int_{t_k - \tau}^{t_k} p^*(s + \tau) x(s) ds \right) \\ & - \int_{t_k - \tau}^{t_k - \sigma} q(s + \sigma) x(s) ds - \int_{t_k - \tau}^{t_k} p^*(s + \tau) x(s) ds \right]^2 \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} p^*(u + \tau) x^2(u) du ds \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} q(u + \sigma) x^2(u) du ds \\ & = b_k^2 \left[ x(t_k^-) - \int_{t_k - \tau}^{t_k - \sigma} q(s + \sigma) x(s) ds - \int_{t_k - \tau}^{t_k} p^*(s + \tau) x(s) ds \right]^2 \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} p^*(u + \tau) x^2(u) du ds \\ & = b_k^2 \left[ x(t_k^-) - \int_{t_k - \tau}^{t_k - \sigma} q(s + \sigma) x(s) ds - \int_{t_k - \tau}^{t_k} p^*(s + \tau) x(s) ds \right]^2 \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} p^*(u + \tau) x^2(u) du ds \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} q(u + \sigma) x^2(u) du ds \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} p^*(u + \tau) x^2(u) du ds \\ & \leq \left[ x(t_k^-) - \int_{t_k - \tau}^{t_k - \sigma} q(s + \sigma) x(s) ds - \int_{t_k - \tau}^{t_k} p^*(s + \tau) x(s) ds \right]^2 \\ & + \int_{t_k - \tau}^{t_k} p^*(s + 2\tau) \int_s^{t_k} p^*(u + \tau) x^2(u) du ds \\ & = V(t_k^-), \end{aligned}$$

which, together with (6) and (12), implies

$$p^*(t+\tau)x^2(t) \in L^1(t_0,\infty),$$

and, hence, for any  $\eta \geq 0$  we have

(14) 
$$\lim_{t \to \infty} \int_{t-\eta}^{t} p^*(s+\tau) x^2(s) ds = 0.$$

By (6) and (14), we have

$$V_{2}(t) = \int_{t-\tau}^{t} p^{*}(s+2\tau) \int_{s}^{t} p^{*}(u+\tau)x^{2}(u)duds$$
  

$$\leq \int_{t-\tau}^{t} p^{*}(s+2\tau) \int_{t-\tau}^{t} p^{*}(u+\tau)x^{2}(u)duds$$
  

$$= \int_{t}^{t+\tau} p^{*}(s+\tau) \int_{t-\tau}^{t} p^{*}(u+\tau)x^{2}(u)duds$$
  

$$\leq 2 \int_{t-\tau}^{t} p^{*}(u+\tau)x^{2}(u)du \to 0, \text{ as } t \to \infty,$$

and

$$V_{3}(t) = \int_{t-\tau}^{t} \left( p^{*}(s+2\tau) \int_{s}^{t} q(u+\sigma)x^{2}(u)du \right) ds$$
  
$$= \int_{t-\tau}^{t} \left( \int_{t-\tau}^{u} p^{*}(s+2\tau)q(u+\sigma)x^{2}(u)ds \right) du$$
  
$$= \int_{t-\tau}^{t} \left( q(u+\sigma) \int_{t-\tau}^{u} p^{*}(s+2\tau)ds \right) x^{2}(u)du$$
  
$$\leq \int_{t-\tau}^{t} \left( q(u+\sigma) \int_{u-\tau}^{u} p^{*}(s+2\tau)ds \right) x^{2}(u)du$$
  
$$\leq \int_{t-\tau}^{t} 2p^{*}(u+\tau)x^{2}(u)du \to 0, \text{ as } t \to \infty.$$

On the other hand, by (6), (12) and (13), we see that V(t) is eventually decreasing. Hence, the limit  $\lim_{t\to\infty} V(t) = \alpha$  exists and is finite. So  $\lim_{t\to\infty} V_1(t) = \alpha$ , that is,

(15) 
$$\lim_{t \to \infty} \left[ x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds - \int_{t-\tau}^t p^*(s+\tau)x(s)ds \right]^2 = \alpha.$$

Let

$$y(t) = x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds - \int_{t-\tau}^{t} p^*(s+\tau)x(s)ds,$$

$$\begin{split} y(t_k) &= x(t_k) - \int_{t_k-\tau}^{t_k-\sigma} q(s+\sigma)x(s)ds - \int_{t_k-\tau}^{t_k} p^*(s+\tau)x(s)ds \\ &= b_k x(t_k^-) + (1-b_k) \left( \int_{t_k-\tau}^{t_k-\sigma} q(s+\sigma)x(s)ds + \int_{t_k-\tau}^{t_k} p^*(s+\tau)x(s)ds \right) \\ &- \int_{t_k-\tau}^{t_k-\sigma} q(s+\sigma)x(s)ds - \int_{t_k-\tau}^{t_k} p^*(s+\tau)x(s)ds \\ &= b_k \left[ x(t_k^-) - \int_{t_k-\tau}^{t_k-\sigma} q(s+\sigma)x(s)ds - \int_{t_k-\tau}^{t_k} p^*(s+\tau)x(s)ds \right] \\ &= b_k y(t_k^-), \end{split}$$

moreover, in view of (8) and (15), we have

(16) 
$$\begin{cases} y'(t) + p^*(t+\tau)x(t) = 0, \quad t \ge t_0, \quad t \ne t_k, \\ y(t_k) = b_k y(t_k^-), \quad k = 1, 2, 3, \cdots, \end{cases}$$

and

(17) 
$$\lim_{t \to \infty} y^2(t) = \alpha.$$

If  $\alpha = 0$ , then  $\lim_{t \to \infty} y(t) = 0$ . If  $\alpha > 0$ , then there exists a sufficiently large  $T_2$ such that  $y(t) \neq 0$  for  $t \geq T_2$ . Otherwise, there is a sequence  $\tau_1, \tau_2, \cdots, \tau_k, \cdots$ with  $\lim_{k\to\infty} \tau_k = \infty$  such that  $y(\tau_k) = 0$ , so  $y^2(\tau_k) \to 0$  as  $k \to \infty$ . It is a contradiction with  $\alpha > 0$ . Therefore, for any  $t_k > T_2$ ,  $t \in [t_k, t_{k+1})$  we have y(t) > 0 or y(t) < 0 because y(t) is continuous on  $[t_k, t_{k+1})$ . Without loss of generality, we assume that y(t) > 0 on  $[t_k, t_{k+1})$ , it follows that  $y(t_{k+1}) = b_{k+1}y(t_{k+1}) > 0$ , thus y(t) > 0 on  $[t_{k+1}, t_{k+2})$ . By induction, we can conclude that y(t) > 0 on  $[t_k, \infty)$ . From (17), we have (18)

$$\lim_{t \to \infty} y(t) = \lim_{t \to \infty} \left[ x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds - \int_{t-\tau}^t p^*(s+\tau)x(s)ds \right] = \beta$$

must exist and is finite. In view of (16), we have

$$\int_{t-\tau}^{t} p^*(s+\tau)x(s)ds = y(t-\tau) - y(t) + \sum_{t-\tau < t_k < t} [y(t_k) - y(t_k^-)]$$
$$= y(t-\tau) - y(t) - \sum_{t-\tau < t_k < t} (1-b_k)y(t_k^-).$$

We let  $t \to \infty$  and note that  $\sum_{k=1}^{\infty} (1 - b_k) < \infty$ , then we have

(19) 
$$\lim_{t \to \infty} \int_{t-\tau}^t p^*(s+\tau)x(s)ds = 0.$$

G. WEI, J. SHEN

By (18) and (19), we have

(20) 
$$\lim_{t \to \infty} [x(t) - \int_{t-\tau}^{t-\sigma} q(s+\sigma)x(s)ds] = \beta.$$

Next, we shall prove that

(21) 
$$\lim_{t \to \infty} x(t) = \frac{\beta}{1 - \mu}.$$

To this end, we first show |x(t)| is bounded. In fact, if |x(t)| is unbounded, then there exists a sequence  $\{s_n\}$  such that  $s_n \to \infty$ ,  $|x(s_n^-)| \to \infty$ , as  $n \to \infty$ and

(22) 
$$|x(s_n^-)| = \sup_{t_0 \le t \le s_n} |x(t)|,$$

where, if  $s_n$  is not impulsive point then  $x(s_n^-) = x(s_n)$ . Thus, noticing (5) and (22), we have

$$\begin{aligned} |x(s_n^-) - \int_{s_n-\tau}^{s_n-\sigma} q(s+\sigma)x(s)ds| &\geq |x(s_n^-)| - \int_{s_n-\tau}^{s_n-\sigma} q(s+\sigma)|x(s)|ds\\ &\geq |x(s_n^-)| - |x(s_n^-)| \int_{s_n-\tau}^{s_n-\sigma} q(s+\sigma)ds\\ &= |x(s_n^-)|(1 - \int_{s_n-\tau}^{s_n-\sigma} q(s+\sigma)ds) \to \infty, \text{ as } n \to \infty, \end{aligned}$$

which contradicts (20). So |x(t)| is bounded. Set

$$\limsup_{t \to \infty} x(t) = \omega_1, \quad \liminf_{t \to \infty} x(t) = \omega_2.$$

Choose two sequences  $\{u_n\}$  and  $\{v_n\}$  such that  $u_n \to \infty, v_n \to \infty$  as  $n \to \infty$ and

$$\lim_{n \to \infty} x(u_n) = \omega_1, \quad \lim_{n \to \infty} x(v_n) = \omega_2.$$

Since for  $\delta > 0$  sufficiently small,

$$\begin{aligned} x(u_n) &= x(u_n) - \int_{u_n - \tau}^{u_n - \sigma} q(s + \sigma) x(s) ds + \int_{u_n - \tau}^{u_n - \sigma} q(s + \sigma) x(s) ds \\ &\leq x(u_n) - \int_{u_n - \tau}^{u_n - \sigma} q(s + \sigma) x(s) ds + (\omega_1 + \delta) \int_{u_n - \tau}^{u_n - \sigma} q(s + \sigma) ds, \end{aligned}$$

it follows, by (20) and (5), that

$$\omega_1 = \lim_{n \to \infty} x(u_n) \le \beta + (\omega_1 + \delta)\mu$$

We let  $\delta \to 0$  to obtain  $\omega_1 \leq \beta + \omega_1 \mu$ , i.e.,  $\omega_1 \leq \frac{\beta}{1-\mu}$ . Similarly, we can prove  $\omega_2 \geq \frac{\beta}{1-\mu}$ . Therefore  $\omega_1 \leq \omega_2$ , but clearly  $\omega_1 \geq \omega_2$ , which implies that  $\omega_1 = \omega_2 = \frac{\beta}{1-\mu}$ . Thus (21) hold. The proof is complete.

By Theorem 1, we have the following asymptotic behavior result immediately.

**Theorem 2.** The conditions of Theorem 1 implies that every oscillatory solution of (1) tends to zero as  $t \to \infty$ .

**Proof.** Let x(t) be any oscillatory solution of (1), by Theorem 1, x(t) tends to a constant  $\omega$  as  $t \to \infty$  and x(t) is bounded. We let

$$\limsup_{t \to \infty} x(t) = \omega_1, \quad \liminf_{t \to \infty} x(t) = \omega_2,$$

then  $\omega_1 = \omega_2 = \omega$ . On the other hand, noting that x(t) is oscillatory, we have  $\omega_1 \ge 0$  and  $\omega_2 \le 0$ . Thus,  $\omega = \omega_1 = \omega_2 = 0$ . The proof of Theorem 2 is complete.

In Theorem 1, taking  $q(t) \equiv 0$ , we have

**Corollary 1.** Assume that

$$\limsup_{t \to \infty} \int_{t-\tau}^{t+\tau} p(s+\tau) ds < 2;$$
  
$$0 < b_k \le 1 \quad and \quad \sum_{k=1}^{\infty} (1-b_k) < \infty.$$

Then every solution of the equation

$$\begin{cases} x'(t) + p(t)x(t-\tau) = 0, \quad t \ge t_0, \quad t \ne t_k, \\ x(t_k) = b_k x(t_k^-) + (1-b_k) \int_{t_k-\tau}^{t_k} p(s+\tau)x(s)ds, \\ k = 1, 2, 3, \cdots \end{cases}$$

tends to a constant as  $t \to \infty$ .

In Theorem 1, taking  $b_k \equiv 1$ , we get

**Corollary 2.** Assume that the conditions (3)-(6) hold. Then every solution of the equation

$$x'(t) + p(t)x(t-\tau) - q(t)x(t-\sigma) = 0, \quad t \ge t_0$$

tends to a constant as  $t \to \infty$ .

**Theorem 3.** The conditions in Theorem 1 together with

(23) 
$$\int_{t_0}^{\infty} p^*(t)dt = \infty$$

implies that every solution of (1) tends to zero as  $t \to \infty$ .

**Proof.** By theorem 2, we only have to prove that every nonoscillatory solution of (1) tends to zero as  $t \to \infty$ . Without loss of generality, let x(t) be an eventually positive solution of (1), we shall prove  $\lim_{t\to\infty} x(t) = 0$ . As in the proof of Theorem 1, we can rewrite (1) in the form of (16). Integrating from  $t_0$  to t on both sides of (16) produces

$$\int_{t_0}^t p^*(s+\tau)x(s)ds = y(t_0) - y(t) - \sum_{t_0 < t_k < t} (1-b_k)y(t_k^-).$$

By using (18) and  $\sum_{k=1}^{\infty} (1-b_k) < \infty$ , we have

$$\int_0^\infty p^*(s+\tau)x(s)ds < \infty,$$

which, together with (23), yields  $\liminf_{t\to\infty} x(t) = 0$ . On the other hand, by Theorem 1, we see that  $\lim_{t\to\infty} x(t)$  exists. Therefore,  $\lim_{t\to\infty} x(t) = 0$ . The proof is complete.

**Example.** The impulsive differential equation

$$\begin{cases} x'(t) + \frac{2}{(t-1)^{\alpha}}x(t-2) - \frac{1}{t^{\alpha}}x(t-1) = 0, \ t \ge 2, \ t \ne k, \\ x(k) = \frac{k^{\beta} - 1}{k^{\beta}}x(k^{-}) + \frac{1}{k^{\beta}} \left(\int_{k-2}^{k} \frac{2}{(s+1)^{\alpha}}x(s)ds - \int_{k-1}^{k} \frac{1}{(s+1)^{\alpha}}x(s)ds\right), \ k = 3, 4, 5, \cdots, \end{cases}$$

where  $\alpha > 1$  and  $\beta > 1$ , satisfies all conditions of Theorem 1. Therefore, every solution of this equation tends to a constant as  $t \to \infty$ .

ACKNOWLEDGMENT. The authors thank the referee for his/her helpful comments.

#### References

- BAINOV D.D., DIMITROVA M.B., Oscillatory properties of the solutions of impulsive differential equations with a deviating argument and nonconstant coefficients, *Rocky Mountain J. Math.*, 27(1997), 1027–1040.
- [2] BAINOV D.D., SIMEONOV P.S., Systems with Impulse Effect: Stability Theory and Applications, Ellis Horwood Limited, New York, 1989.

- [3] CHEN Y.S., FENG W.Z., Oscillations of second order nonlinear ODE with impulses, J. Math. Anal. Appl., 210(1997), 150–169.
- [4] GRAEF J.R., SHEN J.H., STAVROULAKIS I.P., Oscillation of impulsive neutral delay differential equations, J. Math. Anal. Appl., 268(2002), 310–333.
- [5] LAKSHIMIKANTHAM V., BAINOV D.D., SIMEONOV P.S., Theory of Impulsive Differential Equations, World Scientific, Singapore, 1989.
- [6] LIU X.Z., SHEN J.H., Asymptotic behavior of solutions of impulsive neutral differential equations, Appl. Math. Letter, 12(1999), 51–58.
- [7] LUO Z.G., SHEN J.H., Stability and boundedness for impulsive differential equations with infinite delays, *Nonlinear Anal.*, 46(2001), 475–493.
- [8] SHEN J.H., Global existence and uniqueness, oscillation and nonoscillation of impulsive delay differential equations, Acta Math. Sinica, 40(1997), 53–59.
- [9] YU J.S., ZHANG B.G., Stability theorem for delay differential equations with impulses, J. Math. Anal. Appl., 199(1996), 162–175.
- [10] ZHAO A.M., YAN J.R., Asymptotic behavior of solutions of impulsive delay differential equations, J. Math. Anal. Appl., 201(1996), 943–954.

#### Gengping Wei

DEPARTMENT OF MATHEMATICS, COLLEGE OF HUAIHUA HUAIHUA, HUNAN 418008, CHINA *e-mail:* weigengping@yahoo.com.cn

JIANHUA SHEN DEPARTMENT OF MATHEMATICS, COLLEGE OF HUAIHUA HUAIHUA, HUNAN 418008, CHINA DEPARTMENT OF MATHEMATICS, HUNAN NORMAL UNIVERSITY CHANGSHA, HUNAN 410081, CHINA *e-mail:* jhshen2ca@yahoo.com

This work was supported by the NNSF of China (no. 10071018)

Received on 02.02.2005 and, in revised from, on 25.10.2005.